K1840

=2
S

E= ZHI2I2| A 2| QIR A AR EXAM'E 5o el MM

El C
— ==

it

3/MIE olo|X]|

Mo
=o

=25

ks

100
Ul

]

n

=
=

i

tot7| &

3l

£ @3 dIHE FAlo]

XML 24

LET Q&L

HME &

Ve MIME Z

A
(=]
(=]

HZ XM
Lot

P

O
A

o=

012 FAI7F A &

T A&LICH

k=13

1.4034.

od 1o
T W0
<I
[N
.. 450
Rl wil
= <l

EiZ MSElLICH

ICH 2 E3:1.2 Nm.

I.

A ZHER&LICH
o

=
2 A
[

ot

knd

dlo| Al £ & 0| Koe38soi|
ALE{ MIA7}

g3E HEE x2A=X| o

237 1o

=

0|R:

e

oju

I.E o Xd
C oS
N[

of

=
-1 o
ot

CC
4

A& LICEH
T A&LICH

of

.

[l

74 &t
o=

3 7lHlel Halg W

EEOXE

LIct. Ot x|

Tl
K0
Kq
My
o]
00
70
K
H
|
wr
&0
3
<
I+
My
|
o
=]
il

i

[u}
il
ol
K0
=
mn
X
zI
S
K4
1]
|
I
=0
Fill

i

Ay
ul X O
K=l ar

L|cH.

AAHEH

dPMo| 7|gElof U&

2| MO
=

REMet Hits =

I.

=

A& LEARAE

3: LEAFAE

o

3: LEARA
o=

q.
3.
=
S
S
354
oS-

=P M

A
B
Cc
D

- info@kipp.com 1/3

www.kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



°
AEl cC = AF]|O A AN A AEIl I [ — |
AEIEE= AHQIZ|A AHQIIA AR EXME B2A AEY MA{Z
=S MdYH/XIE olo]x|
dj
=M
® r
T1 r sue he
Sue
8 m 2 ]
H = — - }/ ..... 5 R —— r el
o’ | o I
SW1 H3. H H1
H 1
© r H1
T H2 )
LS swe Hi
A . =
e SEE = gl
H3 H
H 1
EZ= 29
AE| MM EXIMY S A AR TS AHRIFA AE
FEHS EFQJ EE =TT RPN ES D D1 D2D3 H H1 H2 H3 T T1 SW1 SW2
K1840.103101 A A LEA AE 3 M1ox1T - 3 12 - - 4 7 4 3 5
K1840.104101 A A LEA AE 4 M10x1 - 3 12 - - 4 7 4 4 5
K1840.105121 A TAF LEAL AE] 5 M12x15 - 3 15 - - 4 11 4 5 5
K1840.106121 A TIAF LEAL AE 6 M12x15 - 3 15 - - 4 11 4 6 5
K1840.108161 A TAAE LEA AE] 8 M16x1,5 - 3 20 - - 4 155 6 8 5
K1840.110161 A TAF LEAL AE] 10 M16x1,5 - 3 20 - - 4 155 6 10 5
K1840.112201 A TIAF LEAL AE 12 M20x1,5 - 3 25 - - 4 19 6 12 5
K1840.116241 A TAFLEA AE 16 M24x2 - 3 32 - - 4 25 8 16 5
K1840.1103101 A TAF LEAL AHQIFA AE 3 M10x1 - 3 12 - - 4 7 4 3 5
K1840.1104101 A o LEAL AEQBA AR 4 MIOX1I - 3 12 - - 4 7 4 4 5
K1840.1105121 A TIAF LEAL AHQIHA AR 5 M12x1,5 - 3 15 - - 4 11 4 5 5
K1840.1106121 A TAF LEAL AHQIFA AE 6 MI2X1,5 - 3 15 - - 4 11 4 6 5
K1840.1108161 A T4 LEAL AEQBA AR 8 M16x1,5 - 3 20 - - 4 155 6 8 5
K1840.1110161 A A LEAL AHQIHA AE 10 M16x1,5 - 3 20 - - 4 155 6 10 5
K1840.1112201 A TAF LEA AHQIBA AR 12 M20x1,5 - 3 25 - - 4 19 6 12 5
K1840.1116241 A T4 LEAL AEQBA AR 16 M24x2 - 3 32 - - 4 25 8 16 5
K1840.203101 B LIARA Ol Z R K| Z 8t AE 3 M10x1 - 315 12 105 4 7 - 11 5
K1840.204101 B LEARAL 2 ZHX| 23 AE 4 M10x1 - 315 12 105 4 7 - 11 5

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
l_ —
AEIEE= A2 A AHQIYA AR EX|AMY BA AEf MME
= 29
FEHS Et EEIETY EA xA D1 D2D3 H H1 H2 H3 T T1 SW1 SW2
K1840.205121 B LEARAR 2 Z K| Z 3 AE M12x1,5 - 3 15 12 105 4 11 13 5
K1840.206121 B LIARA Ol ZR4 K| Z 8t AE] M12x1,5 - 3 15 12 1055 4 11 13 5
K1840.208161 B LEARA Bl ZRK]| Z 8 AE M16x1,5 - 3 20 15 135 4 155 17 5
K1840.210161 B LEARAR 2 Z2HX| 23 AE M16x1,5 - 3 20 15 135 4 155 17 5
K1840.212201 B LIARA Ol ZR4 K| Z 8t AE] M20x1,5 - 3 25 20 185 4 19 22 5
K1840.216241 B LEARAL 2 ZHX| 23 AE M24x2 - 3 32 27 255 4 25 27 5
K1840.1203101 B LEARAR 2 Z2HK| 25 AHQIFHA AL M10x1 - 3 15 12 105 4 7 11 5
K1840.1204101 B LIARAE Bl Z2 K| Z 8t AEQBA AL M10x1 - 3 15 12 105 4 7 11 5
K1840.1205121 B LEARAE 2 ZHX| 23 AHQIFA AE M12x1,5 - 3 15 12 105 4 11 13 5
K1840.1206121 B LEARAR 2 Z2HX| 28 AHQIFHA AL M12x1,5 - 3 15 12 105 4 11 13 5
K1840.1208161 B LIARAE Bl Z K| Z 8t AE[QBA AL M16x1,5 - 3 20 15 135 4 155 17 5
K1840.1210161 B LEARAH 2 Z2HK| 23 AHQIHA AR M16x1,5 - 3 20 15 135 4 155 17 5
K1840.1212201 B LEARAR 2 Z2HX| 28 AHQIFA AL M20x1,5 - 3 25 20 185 4 19 22 5
K1840.1216241 B LIARAE Sl ZR K| Z 8 AE[QBA AE M24x2 - 3 32 27 255 4 25 27 5
K1840.304121 C LEARA B AIRF 2 23 AE M12x1,5 19 3 16 12 105 4 11 4 5
K1840.305121 C LEARAE S ARF 2 23 AEl M12x1,5 19 3 16 12 105 4 11 5 5
K1840.306121 c LEARAE B ARF 2 23 AE] 6 M12x1,5 19 3 16 12 105 4 11 6 5
K1840.308161 C LEARAE 21 AIRF 2 L AE 8 M16x1,5 26 3 20 15 135 4 155 8 5
K1840.310161 C LEARAE 21 ARF 2 23 AE 10 M16x1,5 26 3 20 15 135 4 155 10 5
K1840.1304121 C LIAFAR B AIRH 2 23 AHQIFA AR 4 MI2x1,5 19 3 16 12 105 4 11 4 5
K1840.1305121 C LEAMAE 2L AIRF 2 L AEHQBMA AR 5 M12x1,5 19 3 16 12 105 4 11 5 5
K1840.1306121 C LIARAR S0 A|RF 2 23 AHQIHA AE 6 M12x1,5 19 3 16 12 105 4 11 6 5
K1840.1308161 C LIAFAR B AIRF 2 23 AHQIFA AEl 8 M16x1,5 26 3 20 15 135 4 155 8 5
K1840.1310161 C LEAMAE 2D AIRF 2 L AHQIBA AR 10 M16x1,5 26 3 20 15 135 4 155 10 5
K1840.403089 D oz & A 3 8 - 310 6 - 4 5 - 5
K1840.404089 D o &t AE 4 8 - 310 6 - 4 5 5
K1840.405089 D oj = &t AE 5 8 - 310 6 - 4 6 - 5
K1840.406109 D oi& &t AEl 6 10 - 311 7 - 4 7 - 5
K1840.408139 D o &t AEl 8 13,5 - 314 95 - 4 95 - 5
K1840.410179 D & & AE 10 17 - 316115 - 4 115 - 5
K1840.1403089 D oz & AEHIQIEA AR 3 8 - 310 6 - 4 5 - 5
K1840.1404089 D o &t AEQIEA A 4 8 - 310 6 - 4 5 - 5
K1840.1405089 D oH = & AEQEA A 5 8 - 310 6 - 4 6 - 5
K1840.1406109 D oz AEHIQIEA AR 6 10 - 311 7 - 4 7 - 5
K1840.1408139 D o &t AEQIEA AE 8 13,5 - 314 95 - 4 95 - 5
K1840.1410179 D oH& & AHQIEIA AR 10 17 - 316115 - 4 115 - 5

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



